










There are eight cars A, B, C, D, E, F, G, and H 

in a park within a certain distance. Car A is 

8km to the east of Car B, which is 9km north of 

Car D. Car C is 5km to the south of Car F, 

which is 6km to the west of Car G. Car G is 

4km to the north of Car A. Car E is 8km to the 

west of Car C. Car H is 2km to the south of Car 

E. Car G is in which direction with respect to 

Car C? 

1. North 

2. South 

3. East 

4. South-West 

5. North-East

आठ कारें A, B, C, D, E, F, G और H एक 

निनित दरूी के भीतर एक पाकक में हैं। कार A, कार 

B के 8 नकमी परू्क में ह,ै जो कार D के 9 नकमी 

उत्तर में ह।ै कार C, कार F के 5 नकमी दनिण में ह,ै 

जो कार G के 6 नकमी पनिम में ह।ै कार G, कार 

A के 4 नकमी उत्तर में ह।ै कार E, कार C के 8 

नकमी पनिम में ह।ै कार H, कार E के 2 नकमी 

दनिण में ह।ै कार G, कार C के संदभक में नकस 

नदशा में ह?ै 

1.उत्तर 

2. दनिण 

3. परू्क 

4. दनिण-पनिम 

5. उत्तर-परू्क



There are eight cars A, B, C, D, E, F, G, and H 

in a park within a certain distance. Car A is 

8km to the east of Car B, which is 9km north of 

Car D. Car C is 5km to the south of Car F, 

which is 6km to the west of Car G. Car G is 

4km to the north of Car A. Car E is 8km to the 

west of Car C. Car H is 2km to the south of Car 

E. Car G is in which direction with respect to 

Car C? 

1. North 

2. South 

3. East 

4. South-West 

5. North-East



I E * 6 B 5 4 # 5 U I 6 L S H 7 2 I Y 8 9 @ G $ 4 6 A R 7 2 

Which among the following element is 18th from right end of the 

given series? 

निम्िनिनित में से कौि सा तत्र् दी गई श्रंििा के दायें छोर से 18र्ा ंह?ै

(a) 6 (b) L (c) S (d) I (e) None of these



I E * 6 B 5 4 # 5 U I 6 L S H 7 2 I Y 8 9 @ G $ 4 6 A R 7 2 

How many symbols are there in the given series which are 

immediately followed by a number and immediately preceded by a 

consonant?

दी गई श्रंििा में ऐसे नकतिे प्रतीक हैं नजिके ठीक बाद एक संख्या ह ैऔर ठीक पहिे 

एक व्यंजि ह?ै

(a) One (b) None (c) Two (d) Three (e) More than three



If the 2nd half of an English alphabet is written in reverse order, 

which letter will be the 5th at left from 21st letter from left?

यनद अगं्रेजी र्णकमािा के दसूरे भाग को उिटे क्रम में नििा जाए, तो कौि सा अिर 

बाए ंसे 21र्ें अिर के बाए ंसे 5th होगा?

(A) L

(B) X

(C) M

(D) Q

(E) None of these



If the 2nd half of an English alphabet is written in the reverse 

sequence, which will be the 6th letter at right from the 18th letter from 

left?

यनद अगें्रजी र्णकमािा के दसूरे भाग को उल्टे क्रम में नििा जाए, तो बाएं से 18र्ें अिर के

दाई ंओर छठा अिर कौि सा होगा?

(A) X

(B) P

(C) O

(D) N

(E) None of these



In the word ‘OPERATION’, if all the consonants are replaced with their 

previous letter and all the vowels are replaced with their next letter 

according to alphabetical series, then how many vowels are there in the 

new word formed after the rearrangement?

शब्द ‘OPERATION’, में, यनद सभी व्यंजिों को उिके नपछिे अिर से बदि नदया जाता ह ै

और सभी स्र्रों को उिके अगिे अिर से र्णाकिकु्रम में बदि नदया जाता ह,ै तो पिुव्यकर्स्था के 

बाद बिे िए शब्द में नकतिे स्र्र हैं?

A.3 

B.4 

C.5 

D.6 

E.None of these



If 1 is added from each even digit and 2 is subtracted to each odd digit in 

the number 45925639258, then how many digits will appear more than 

twice in the new number thus formed?

यनद संख्या 45925639258 में प्रत्येक सम अकं में से 1 जोडा जाता ह ैऔर प्रत्येक नर्षम 

अकं में से 2 घटाया जाता ह,ै तो इस प्रकार बिी िई संख्या में नकतिे अकं दो बार से अनिक 

नदिाई देंगे?

(a) Only 7 (b) Both 3 and 7 (c) 1, 3 and 7 (d) 1, 3 and 9 (e) None of these 



Statement: 

X ≤ V ≤ Z < F > A; Z > Q 

Conclusion: 

I. Q > V 

II. V ≥ Q



Statement: 

I < B > C ≥ E ≥ D; C = O > T 

Conclusion: 

I. B > T 

II.C ≥ D



Statement: 

T > R < O > F > L < E 

Conclusion: 

I. O > L 

II.R > E



Statement:   

H ≤ G ≤ J ≥ L >A >Q = Y < R

Conclusions: 

I. J > Q

II.     Q < R 



Statements:  

F < H ≤ L; L < J ≤ S < A 

Conclusions: 

I. S > F 

II. A < H



In a Certain code JOKE is written as 212410 ,than find the code for 

HERO ?

एक निनित कोड में JOKE का कोड 212410 निखा गया है तो HERO का कोड

क्या होगा ?

(1) 16101812

(2) 40101823

(3) 16253649

(4) 18141312

(5) None of these



In a Certain code VOTE is written as 2024 ,than find the code for FOX

?

एक निनित कोड में VOTE का कोड 2024 निखा गया है तो FOX का कोड क्या

होगा ?

(1) 196

(2) 441

(3) 302

(4) 181

(5) None of these



In a certain code language 

‘Entrance Score Attempt’ is coded as ‘gt dt ct’ 

‘Score Result Rank’ is coded as ‘dt bj rt’ ‘

Attempt Rank Advantage’ is coded as ‘ct bj nt’ 

‘Practice Exam Attempt’ is coded as ‘bt ht ct’

‘Exam Analysis Score’ is coded as ‘dt st ht’ 

Q. Which among the following is the code for ‘Exam’?

निम्िनिनित में से कौि सा 'Exam' के निए कोड ह?ै

(a) ht (b) bt (c) ct (d) st (e) None of these



Statements: 

Some rocks are marble. 

All marble are stone. 

No stone is sand . 

Conclusion: 

I. Some rocks are not sand. 

II.  Some marble is sand.

कथि: 

कुछ चट्टािें संगमरमर हैं। 

सभी माबकि स्टोि हैं. 

कोई स्टोि सैंड िहीं ह.ै 

निष्कषक: 

I. कुछ चट्टाि रेत िहीं हैं। 

II. कुछ माबकि सैंड ह.ै



Statements: 

Some rocks are marble. 

All marble are stone. 

No stone is sand . 

Conclusion: 

I. Some rocks are not sand. 

II.  Some marble is sand.



Statements: 

No animal is bird.

Only a few bird is rabbit. 

Some rabbit is owl.

Conclusion: 

I. Some bird is not owl.

II. No owl is animal.

कथि: 

कोई जािर्र पिी िहीं ह।ै 

केर्ि कुछ बडक रैनबट हैं। 

कुछ िरगोश उल्ि ूहैं।

निष्कषक: 

कुछ पिी उल्ि ूिहीं हैं। 

कोई उल्ि ूजािर्र िहीं ह।ै



Statements: 

No animal is bird.

Only a few bird is rabbit. 

Some rabbit is owl.

Conclusion: 

I. Some bird is not owl.

II. No owl is animal.



Statement : 

No Coin are Money. 

All Money are Hard. 

Only a few Bank are Coin. 

Conclusions: 

I. All Coin can never be 

Hard. 

II. No Money are Bank.

कथि : 

कोई कॉइि मिी िहीं ह।ै 

सभी मिी हाडक हैं। 

केर्ि कुछ बैंक कॉइि हैं। 

निष्कषक: 

सभी कॉइि कभी हाडक िहीं हो सकते। 

कोई मिी बैंक िहीं हैं।



Statement : 

No Coin are Money. 

All Money are Hard. 

Only a few Bank are Coin. 

Conclusions: 

I. All Coin can never be 

Hard. 

II. No Money are Bank.



Statement:-

No Fan is Table. 

Only a few Table is Chair. 

Few Chair is Gas. 

Conclusions: 

I. All Fan can be Gas. 

II. Some Chair is not Fan

कथि:-

कोई पंिा टेबि िहीं ह।ै 

केर्ि कुछ टेबि चयेर हैं। 

कुछ चयेर गैस हैं. 

निष्कषक: 

सभी पंिे गैस हो सकते हैं।

कुछ चयेर फैि िहीं हैं



Statement:-

No Fan is Table. 

Only a few Table is Chair. 

Few Chair is Gas. 

Conclusions: 

I. All Fan can be Gas. 

II. Some Chair is not Fan



सात बॉक्स – Z, A, V, B, U, C और W हैं

जो एक के ऊपर एक रिे हैं िेनकि जरूरी िहीं 

नक इसी क्रम में हों। िीचे के बॉक्स की संख्या 1 

ह ैऔर इसके ऊपर के बॉक्स की संख्या 2 ह ैऔर 

इसी तरह शीषक बॉक्स तक नजसकी संख्या 7 ह।ै 

V और Z के बीच दो बॉक्स रिे गए हैं, नजसे V 

के ऊपर एक नर्षम संख्या की नस्थनत में रिा 

गया ह।ै दो बॉक्स के बीच में रिा गया ह।ै A और 

W. Z और W के बीच तीि बॉक्स रिे गए हैं। 

B, U के ठीक ऊपर रिा गया ह,ै जो V के ऊपर 

िहीं रिा गया ह।ै

There are seven boxes – Z, A, V, B, 

U, C and W which are placed one 

above the other but not necessarily in 

the same order. The bottom box is 

numbered 1 and the box above it 

numbered 2 and so on till the top box 

which is numbered 7. Two boxes are 

placed between V and Z, which is kept 

at an odd number position above V. 

Two boxes are kept between A and W. 

Three boxes are kept between Z and 

W. B is kept immediately above U, 

which is not kept above V. 



There are seven boxes – Z, A, V, B, 

U, C and W which are placed one 

above the other but not necessarily in 

the same order. The bottom box is 

numbered 1 and the box above it 

numbered 2 and so on till the top box 

which is numbered 7. Two boxes are 

placed between V and Z, which is kept 

at an odd number position above V. 

Two boxes are kept between A and W. 

Three boxes are kept between Z and 

W. B is kept immediately above U, 

which is not kept above V. 



Eight persons Paro, Runa, Sona, Kim,Harry, 

Ram, Geet and Monu are going for seven days 

holiday on different months of same year i.e. 

January, February, March, April, May, June, 

July and August. All information is not 

necessarily in same order. Harry goes in the 

month of August. Sona goes in the month which 

has odd number of days. Geet goes just after the 

month in which Sona goes. Three persons goes 

between Monu and Sona. Runa goes in the 

month which has even number of days but not in 

February. Two persons goes between Kim and 

Ram, who does not go in the month which have 

odd number of days. Ram does not go in 

February. Paro does not go after Kim. Monu

goes in the month of May .

आठ व्यनि पारो, रूिा, सोिा, नकम, हरैी, राम, गीत और 

मोि ूएक ही र्षक के नर्नभन्ि महीिों यािी जिर्री, फरर्री, 

माचक, अप्रैि, मई, जिू, जिुाई और अगस्त में सात नदिों 

की छुट्टी पर जा रह ेहैं। जरूरी िहीं नक सभी जािकारी इसी 

क्रम में हो। हरैी अगस्त के महीिे में जाता ह।ै सोिा नर्षम 

नदिों र्ािे महीिे में जाता ह।ै गीत उस महीिे के ठीक बाद 

में जाता ह ैनजसमें सोिा जाती ह।ै मोि ूऔर सोिा के बीच 

तीि व्यनि जाते हैं। रूण उस महीिे में जाता ह ैनजसमें नदिों 

की संख्या सम होती ह ैिेनकि फरर्री में िहीं। नकम और 

राम के बीच दो व्यनि जाते हैं, जो उस महीिे में िहीं जाता 

ह ैनजसमें नदिों की संख्या नर्षम होती ह।ै राम फरर्री में

िहीं जाता ह।ै पारो नकम के पीछे िहीं जाती।मोि ूमई के 

महीिे में जाता ह।ै



Eight persons Paro, Runa, Sona, Kim,Harry, 

Ram, Geet and Monu are going for seven days 

holiday on different months of same year i.e. 

January, February, March, April, May, June, 

July and August. All information is not 

necessarily in same order. Harry goes in the 

month of August. Sona goes in the month which 

has odd number of days. Geet goes just after the 

month in which Sona goes. Three persons goes 

between Monu and Sona. Runa goes in the 

month which has even number of days but not in 

February. Two persons goes between Kim and 

Ram, who does not go in the month which have 

odd number of days. Ram does not go in 

February. Paro does not go after Kim. Monu

goes in the month of May .



In a shop, 6 boxes containing books of 

different subjects are kept. They are - Physics, 

Chemistry, Biology, mathematics, English, 

Hindi. Each box has a number written on it 

from 1 to 6 but not necessarily in that order. 

The boxes are arranged in a stack in ascending 

order with the lowest numbered box at the top. 

The box containing Physics book is kept at the 

top. There are three boxes between the box of 

Physics books and box of Hindi books which 

is immediately above the box of Biology 

books. Box of Mathematics books is kept 

immediately above box of English books and 

immediately below box of Chemistry books.

एक दकुाि में नर्नभन्ि नर्षयों की पसु्तकों के 6 नडब्बे रिे 

हुए हैं। रे् हैं - भौनतकी, रसायि नर्ज्ञाि, जीर् नर्ज्ञाि, 

गनणत, अंगे्रजी, नहदंी। प्रत्येक बॉक्स में 1 से 6 तक की 

संख्या नििी होती ह ैिेनकि जरूरी िहीं नक इसी क्रम में

हो। बॉक्स शीषक पर सबसे कम संख्या र्ािे बॉक्स के साथ 

आरोही क्रम में स्टैक में व्यर्नस्थत होते हैं। भौनतकी की

नकताब र्ािा नडब्बा सबसे ऊपर रिा गया ह।ै भौनतकी 

की नकताबों के नडब्बे और नहदंी की नकताबों के नडब्बे के 

बीच तीि नडब्बे हैं, जो जीर् नर्ज्ञाि की नकताबों के 

नडब्बे के ठीक ऊपर ह।ै गनणत की नकताबों का नडब्बा 

अंगे्रजी की नकताबों के नडब्बे के ठीक ऊपर और रसायि 

नर्ज्ञाि की नकताबों के नडब्बे के ठीक िीचे रिा जाता ह।ै



In a shop, 6 boxes containing books of 

different subjects are kept. They are - Physics, 

Chemistry, Biology, mathematics, English, 

Hindi. Each box has a number written on it 

from 1 to 6 but not necessarily in that order. 

The boxes are arranged in a stack in ascending 

order with the lowest numbered box at the top. 

The box containing Physics book is kept at the 

top. There are three boxes between the box of 

Physics books and box of Hindi books which 

is immediately above the box of Biology 

books. Box of Mathematics books is kept 

immediately above box of English books and 

immediately below box of Chemistry books.



Six persons P, Q, R, S, T and V sit around a 

circular table but not necessarily in the same 

order. Three of them face inside while rest 

three faces outside the center. They are of 

different ages (in years) viz. 15, 16, 18, 21, 25 

and 27 but not in the same order as given. V 

and R sits immediate left to each other. R’s 

age is perfect square number. Difference 

between the age of R and S is 2 years. S sits 

third to the right of R. P and T are immediate 

neighbors. The ages of both P and T are an 

even number. The age of Q is a multiple of 

five and sits second to the left to P. The 

persons whose age are a perfect square are 

immediate neighbors. T and Q faces each 

other.

छह व्यनि P, Q, R, S, T और V एक र्रत्ताकार मेज के 

चारों ओर बैठे हैं, िेनकि जरूरी िहीं नक इसी क्रम में हों। 

उिमें से तीि का मिु अंदर की ओर ह ैजबनक शेष का 

मिु कें द्र से बाहर की ओर ह।ै रे् अिग-अिग उम्र के हैं 

(र्षों में) अथाकत। 15, 16, 18, 21, 25 और 27 िेनकि 

नदए गए क्रम में िहीं। V और R एक दसूरे के ठीक बाएं 

बैठे हैं। R की आय ुपणूक र्गक संख्या ह।ै R और S की आय ु

के बीच 2 र्षक का अंतर ह।ै S, R के दायें से तीसरे स्थाि 

पर बैठा ह।ै P और T निकटतम पडोसी हैं। P और T दोिों 

की आय ुएक सम संख्या ह।ै Q की आय ुपांच का गणुज ह ै

और र्ह P के बायें से दसूरे स्थाि पर बैठा ह।ै नजि 

व्यनियों की आय ुएक पणूक र्गक ह,ै र्े निकटतम पडोसी हैं। 

T और Q एक दसूरे के सामिे हैं।



Six persons P, Q, R, S, T and V sit around a 

circular table but not necessarily in the same 

order. Three of them face inside while rest 

three faces outside the center. They are of 

different ages (in years) viz. 15, 16, 18, 21, 25 

and 27 but not in the same order as given. V 

and R sits immediate left to each other. R’s 

age is perfect square number. Difference 

between the age of R and S is 2 years. S sits 

third to the right of R. P and T are immediate 

neighbors. The ages of both P and T are an 

even number. The age of Q is a multiple of 

five and sits second to the left to P. The 

persons whose age are a perfect square are 

immediate neighbors. T and Q faces each 

other.



Certain number of people are sitting in a 

linear row facing towards the north 

direction. U sits third from one of the 

extreme ends but not adjacent to S. Four 

persons sit between A and B. Two 

persons sit between B and E. Y sits 

immediate left of A. Y sits fifth from one 

of the extreme ends. R sits third from one 

of the extreme ends. Nine persons sit 

between Y and R. S sits fourth to the left 

of E. P sits third to the right of S. E sits 

right of B . B does not sits any end .U and 

A are not immediate neighbors .

कुछ िोग एक पंनि में उत्तर नदशा की ओर उन्मिु 

होकर बैठे हैं। U नकसी एक अंनतम छोर से तीसरे 

स्थाि पर बैठा ह ैिेनकि S के आस-पास िहीं ह।ै 

A और B के बीच चार व्यनि बैठे हैं। B और E 

के बीच दो व्यनि बैठे हैं। Y, A के ठीक बाएं बैठा

ह।ै Y बैठा ह ैनकसी एक अंनतम छोर से पांचर्ां। R

नकसी एक अंनतम छोर से तीसरे स्थाि पर बैठा ह।ै 

Y और R के बीच िौ व्यनि बैठे हैं। S, E के बायें

से चौथे स्थाि पर बैठा ह।ै P, S के दायें से तीसरे

स्थाि पर बैठा ह।ै E, B के दायें बठैा है। B 

ककसी छोर पर नह ीं बैठा है। U और A 
ननकटतम पडोसी नह ीं हैं।



Certain number of people are sitting in a linear row facing towards the north 

direction. U sits third from one of the extreme ends but not adjacent to S. Four 

persons sit between A and B. Two persons sit between B and E. Y sits immediate left 

of A. Y sits fifth from one of the extreme ends. R sits third from one of the extreme 

ends. Nine persons sit between Y and R. S sits fourth to the left of E. P sits third to 

the right of S. E sits right of B . B does not sits any end .U and A are not immediate 

neighbors .



Six persons P, Q, R, S, T and U sit around a triangular table. Three persons sit at each corner of 

table and rest sit at middle of each side of table. All of them face inside and like different colors 

– Blue, Black, White, Violet, Red and Green. All the information is not necessarily in the same 

order. T sits 2nd to the left of the one who likes White, who sits opposite to U. R likes red. R is 

not an immediate neighbor of T and the one who likes white. Q sits 2nd to the left of P, who sits 

at one of the corners of the table. The one who likes Violet sits immediate left of the one who 

likes Black but not sit opposite to P. Q does not like Blue

छह व्यनि P, Q, R, S, T और U एक निभजुाकार मेज के चारो ओर बैठे हैं। तीि व्यनि मेज के प्रत्येक कोिे पर बैठते हैं

और शेष मेज की प्रत्येक भजुा के मध्य में बैठते हैं। रे् सभी अंदर की ओर उन्मिु हैं और उन्हें अिग-अिग रंग पसंद हैं -

िीिा, कािा, सफेद, बैंगिी, िाि और हरा। जरूरी िहीं नक सभी जािकारी इसी क्रम में हो। T, सफेद रंग पसंद करिे र्ािे 

व्यनि के बायें से दसूरे स्थाि पर बैठा ह,ै जो U के नर्परीत बैठा ह।ै R को िाि रंग पसंद ह।ै R, T और सफेद रंग पसंद 

करिे र्ािे व्यनि का निकटतम पडोसी िहीं ह।ै Q, P के बाएं से दसूरे स्थाि पर बैठा ह,ै जो मेज के नकसी एक कोिे पर 

बैठा ह।ै बैंगिी रंग पसंद करिे र्ािा व्यनि कािा रंग पसंद करिे र्ािे व्यनि के ठीक बाएं बैठा ह ैिेनकि P के नर्परीत 

िहीं बैठा ह।ै Q को िीिा रंग पसंद िहीं है



Six persons P, Q, R, S, T and U sit around a triangular table. Three persons sit at each corner of 

table and rest sit at middle of each side of table. All of them face inside and like different colors 

– Blue, Black, White, Violet, Red and Green. All the information is not necessarily in the same 

order. T sits 2nd to the left of the one who likes White, who sits opposite to U. R likes red. R is 

not an immediate neighbor of T and the one who likes white. Q sits 2nd to the left of P, who sits 

at one of the corners of the table. The one who likes Violet sits immediate left of the one who 

likes Black but not sit opposite to P. Q does not like Blue



Ten Persons L, M, N, O, P, Q, R, S, T and U 

were born (but not necessarily in the same 

order) on either 9th or 30th of five different 

months- January, May, August, October and 

December. Three persons were born between 

M and Q and they born on same date. Two 

persons were born between M and R, who was 

born in either May or December. The number 

of persons were born between R and Q is 

same as the number of persons were born 

between N and T. T was born in October. S 

was born just after L, who was born after R. P 

was born just before the given month when O 

was born. U was born before T. M was born 

after R. L and S were not born in the same 

month. U is not the eldest person.

दस व्यनियों L, M, N, O, P, Q, R, S, T और U का

जन्म पांच अिग-अिग महीिों- जिर्री, मई, अगस्त, 

अक्टूबर और 9 या 30 तारीि को हुआ था (िेनकि जरूरी 

िहीं नक इसी क्रम में हो)। नदसंबर। M और Q के बीच तीि 

व्यनियों का जन्म हुआ था और उिका जन्म एक ही तारीि 

को हुआ था। M और R के बीच दो व्यनियों का जन्म हुआ 

था, नजसका जन्म या तो मई या नदसंबर में हुआ था। R और 

Q के बीच पैदा हुए व्यनियों की संख्या N और T के बीच 

पैदा हुए व्यनियों की संख्या के समाि ह।ै T का जन्म 

अक्टूबर में हुआ था। S का जन्म L के ठीक बाद हुआ था, 

नजसका जन्म R के बाद हुआ था। P का जन्म नदए गए महीिे 

से ठीक पहिे हुआ था जब O का जन्म हुआ था। U का 

जन्म T से पहिे हुआ था। M का जन्म R के बाद हुआ था। 

L और S का जन्म एक ही महीिे में िहीं हुआ था। U सबसे 

बडा व्यनि िहीं ह।ै



Ten Persons L, M, N, O, P, Q, R, S, T and U 

were born (but not necessarily in the same 

order) on either 9th or 30th of five different 

months- January, May, August, October and 

December. Three persons were born between 

M and Q and they born on same date. Two 

persons were born between M and R, who was 

born in either May or December. The number 

of persons were born between R and Q is 

same as the number of persons were born 

between N and T. T was born in October. S 

was born just after L, who was born after R. P 

was born just before the given month when O 

was born. U was born before T. M was born 

after R. L and S were not born in the same 

month. U is not the eldest person.



Six persons A, B, C, D, E and F live in a three-storey

building such that ground floor is numbered as 1, 

above it is floor 2 then topmost floor is numbered as 3. 

Each of the floor has 2 flats in it as flat-1 and flat-2. 

Flat-1 of floor-2 is immediately above flat-1 of floor-1 

and immediately below flat-1 of floor-3 and so on. In 

the same way flat-2 of floor-2 is immediately above 

flat-2 of floor-1 and immediately below flat-2 of floor-

3 and so on. Flat1 is in west of flat-2. Each of them 

likes different fruits. One floor gap between C and the 

one who likes Grapes in the same flat number. A lives 

on an even number floor in the north west of C. The 

one who likes apricot lives below A. The one who 

likes banana lives above C and in the south-east of D, 

who does not like Apple. F likes Apricot. D and A not 

like orange. E lives below B. One of the persons like 

coconut

छह व्यनि A, B, C, D, E और F एक तीि मंनजिा इमारत में इस 

प्रकार रहते हैं नक भतूि की संख्या 1 ह,ै इसके ऊपर की मंनजि की 

संख्या 2 ह ैनफर सबसे ऊपर की मंनजि की संख्या 3 ह।ै प्रत्येक 

मंनजि में 2 फ्िैट हैं यह फ्िैट-1 और फ्िटै-2 के रूप में ह।ै ति-2 

का फ्िैट-1, ति-1 के फ्िैट-1 के ठीक ऊपर ह ैऔर ति-3 के 

फ्िैट-1 के ठीक िीचे ह ैऔर इसी प्रकार आगे भी। इसी प्रकार ति-

2 का फ्िैट-2, ति-1 के फ्िैट-2 के ठीक ऊपर और ति-3 के 

फ्िैट-2 के ठीक िीचे ह ैऔर इसी तरह। फ्िैट 1, फ्िैट-2 के पनिम 

में ह।ै उिमें से प्रत्येक को अिग-अिग फि पसंद हैं। समाि फ्िैट 

संख्या में C और अंगरू पसंद करिे र्ािे के बीच एक मंनजि का 

अंतर ह।ै A, C के उत्तर पनिम में एक सम संख्या र्ािी मंनजि पर 

रहता ह।ै र्ह व्यनि नजसे िबुािी पसंद ह ैर्ह A के िीचे रहता ह।ै 

र्ह व्यनि नजसे केिा पसंद ह ैर्ह C के ऊपर और D के दनिण-

पूर्क में रहता ह,ै नजसे सेब पसंद िहीं ह।ै F को िबुािी पसंद ह।ै D 

और A को संतरा पसंद िहीं ह।ै E, B के िीचे रहता ह।ै व्यनियों में 

से एक को िाररयि पसंद है



Six persons A, B, C, D, E and F live in a three-storey

building such that ground floor is numbered as 1, 

above it is floor 2 then topmost floor is numbered as 3. 

Each of the floor has 2 flats in it as flat-1 and flat-2. 

Flat-1 of floor-2 is immediately above flat-1 of floor-1 

and immediately below flat-1 of floor-3 and so on. In 

the same way flat-2 of floor-2 is immediately above 

flat-2 of floor-1 and immediately below flat-2 of floor-

3 and so on. Flat1 is in west of flat-2. Each of them 

likes different fruits. One floor gap between C and the 

one who likes Grapes in the same flat number. A lives 

on an even number floor in the north west of C. The 

one who likes apricot lives below A. The one who 

likes banana lives above C and in the south-east of D, 

who does not like Apple. F likes Apricot. D and A not 

like orange. E lives below B. One of the persons like 

coconut



Eight persons A, B, C, D, E, G, H and K sit in a linear row and face north (but not necessarily in the 

same order). All the persons work in a company on different designations viz. MD, CMD, CEO, 

Senior executive, Executive, Manager, Associate Manager and HR. Two persons sit between B and 

the one who is CEO. G who is HR sits third to the right of CEO. K is one of the immediate 

neighbors of HR. The one who is Executive sits exactly between K and the one who is CEO. D sits 

third to the left of the one who is Executive. D sits adjacent to A who is not CEO. Same number of 

persons sit to the left of A and right of the one who is Manager. C and the one who is Senior 

executive are immediate neighbors. Three persons sit between H and the one who is MD. D is not 

Associate Manager. 

आठ व्यनि A, B, C, D, E, G, H और K एक रैनिक पंनि में बैठते हैं और उत्तर की ओर उन्मिु हैं (िेनकि जरूरी िहीं नक 

इसी क्रम में हों)। सभी व्यनि एक कंपिी में अिग-अिग पदों पर काम करते हैं जैसे। एमडी, सीएमडी, सीईओ, र्ररष्ठ 

कायककारी, कायककारी, प्रबंिक, एसोनसएट मैिेजर और एचआर। B और सीईओ के बीच दो व्यनि बैठे हैं। G जो एचआर ह,ै 

सीईओ के दायें से तीसरे स्थाि पर बैठा ह।ै K, HR के निकटतम पडोनसयों में से एक ह।ै र्ह व्यनि जो कायककारी ह,ै K और 

सीईओ के ठीक मध्य में बैठा ह।ै D उस व्यनि के बायें से तीसरे स्थाि पर बैठा ह ैजो कायककारी ह।ै D, A के निकट बैठा ह ैजो

सीईओ िहीं ह।ै A के बायें और मैिेजर के दायें ओर समाि संख्या में व्यनि बैठे हैं। C और र्ह जो र्ररष्ठ कायककारी ह ै

निकटतम पडोसी हैं। तीि व्यनि H और एमडी के बीच बैठे हैं। D एसोनसएट मैिेजर िहीं ह।ै 



Eight persons A, B, C, D, E, G, H and K sit in a linear row and face north (but not necessarily in the 

same order). All the persons work in a company on different designations viz. MD, CMD, CEO, 

Senior executive, Executive, Manager, Associate Manager and HR. Two persons sit between B and 

the one who is CEO. G who is HR sits third to the right of CEO. K is one of the immediate 

neighbors of HR. The one who is Executive sits exactly between K and the one who is CEO. D sits 

third to the left of the one who is Executive. D sits adjacent to A who is not CEO. Same number of 

persons sit to the left of A and right of the one who is Manager. C and the one who is Senior 

executive are immediate neighbors. Three persons sit between H and the one who is MD. D is not 

Associate Manager. 



Eight persons F, G, H, I, J, K, L and M attend 

seminar on four different months January, 

April, November and December of the same 

year but not necessarily in the same order. 

Seminar was held on either 15th or 25th of the 

month. G attends seminar on 15th of the 

month which has only 30 days. M and J 

attends the seminar in the same month before 

G, but not in April. M attends the seminar 

after J. No one attends the seminar after F. 

Only one person attends the seminar between 

M and K. Both H and L attend the seminar on 

15th of different months. L does not attend the 

seminar in December. L and I attend the 

seminar in the same month.

आठ व्यनि F, G, H, I, J, K, L और M एक ही र्षक के 

चार अिग-अिग महीिों जिर्री, अपै्रि, िरं्बर और 

नदसंबर में सेनमिार में भाग िेते हैं िेनकि जरूरी िहीं नक

इसी क्रम में हों। संगोष्ठी महीिे की 15 या 25 तारीि को 

आयोनजत की गई थी। G महीिे की 15 तारीि को सेनमिार 

में भाग िेता ह ैनजसमें केर्ि 30 नदि होते हैं। M और J, 

G से पहिे समाि महीिे में सेनमिार में भाग िेते हैं, िेनकि 

अपै्रि में िहीं। M, J के बाद सेनमिार में भाग िेता ह।ै F के

बाद कोई भी सेनमिार में भाग िहीं िेता ह।ै M और K के 

बीच केर्ि एक व्यनि सेनमिार में भाग िेता ह।ै H और L 

दोिों अिग-अिग महीिों की 15 तारीि को सेनमिार में 

भाग िेते हैं। L नदसंबर में सेनमिार में भाग िहीं िेता ह।ै L 

और मैं एक ही महीिे में सेनमिार में भाग िेते हैं।



Eight persons F, G, H, I, J, K, L and M attend 

seminar on four different months January, 

April, November and December of the same 

year but not necessarily in the same order. 

Seminar was held on either 15th or 25th of the 

month. G attends seminar on 15th of the 

month which has only 30 days. M and J 

attends the seminar in the same month before 

G, but not in April. M attends the seminar 

after J. No one attends the seminar after F. 

Only one person attends the seminar between 

M and K. Both H and L attend the seminar on 

15th of different months. L does not attend the 

seminar in December. L and I attend the 

seminar in the same month.



Q. Study the following information carefully and answer the questions given below:

In a General Store, 8 boxes - A, B, C, D, E, F, G and H are placed one above another but not 

necessarily in that order. Each box has a number written on it from 1 to 8 but not necessarily 

in the same order. Number 1 is at the top, number 8 is at the bottom and others accordingly.

Box E is placed below box H. Box A is on number 7. Box F is not on number 5. Box B is on 

number 4. Either box D or Box C is on number 1. Box G is not on number 3 and 5. Box F is 

not on number 2 and 3. Box D is on number 8.

एक स्टोर में, 8 नडब्बे- A, B, C, D, E, F, G और H एक के ऊपर एक रखे गये हैं; िेनकि जरूरी िहीं नक इसी 

क्रम में हो। प्रत्येक बॉक्स पर 1 से 8 तक एक संख्या निखी गयी है। िंबर 1 शीर्ष पर है, संख्या 8 सबसे िीचे है और 

इसी प्रकार अन्य नडब्बे भी रखे गए हैं।

बॉक्स E को बॉक्स H के िीचे रखा गया है। बॉक्स A िंबर 7 पर है। बॉक्स F िंबर 5 पर िहीं है। बॉक्स B िंबर 4 

पर है। बॉक्स D या बॉक्स C िंबर 1 पर है। बॉक्स G िंबर 3 और 5 पर िहीं है। । बॉक्स F िंबर 2 और 3 पर िहीं है| 

बॉक्स D िंबर 8 पर है।



Q. Study the following information carefully and answer the questions given below:

In a General Store, 8 boxes - A, B, C, D, E, F, G and H are placed one above another but not 

necessarily in that order. Each box has a number written on it from 1 to 8 but not necessarily 

in the same order. Number 1 is at the top, number 8 is at the bottom and others accordingly.

Box E is placed below box H. Box A is on number 7. Box F is not on number 5. Box B is on 

number 4. Either box D or Box C is on number 1. Box G is not on number 3 and 5. Box F is 

not on number 2 and 3. Box D is on number 8.



There are more than ten people sitting 

in a circle. Each of the seats occupied 

by one person. Each of them is facing 

inside the circle.

K is sitting third to L. B is sitting 

second to E. There are two people 

sitting in between E and M. I is an 

immediate neighbour of both J and A, 

but not sitting second to B. D and C are 

sitting second and third to B 

respectively. N is sitting second to M, 

but not seated to C. M is sitting third to 

the right of A. E is sitting third to J.

एक घेरे में 10 से अनिक व्यनि बैठे हैं | 

प्रत्येक सीट पर एक व्यनि बैठा है |उिमें से

प्रत्येक का मुख कें द्र की ओर है |K,L से

तीसरे स्थाि पर बैठा है | B,E से दूसरे स्थाि

पर बैठा है | E and M के मध्य दो व्यनि बैठे

हैं | I,J and A दोिों का निकटतम पडोसी

है, िेनकिB से दूसरे स्थाि पर िहीं बैठा है | D

and C,B से क्रमशः दूसरे व तीसरे स्थाि में

बैठे हैं| N,M से दूसरे स्थाि पर बैठा है

,िेनकि C से दूसरे स्थाि पर िहीं है | M, A 

के दाई ंओर से दूसरे स्थाि पर बैठा है | E,J 

से तीसरे स्थाि पर बैठा है |



There are more than ten people sitting 

in a circle. Each of the seats occupied 

by one person. Each of them is facing 

inside the circle.

K is sitting third to L. B is sitting 

second to E. There are two people 

sitting in between E and M. I is an 

immediate neighbour of both J and A, 

but not sitting second to B. D and C are 

sitting second and third to B 

respectively. N is sitting second to M, 

but not seated to C. M is sitting third to 

the right of A. E is sitting third to J.



Eight people A, B, C, D, E, F, G and H buy different items but not 

necessarily in the same order. Three-person buys items between A and D. 

Two persons buy items between B and A. A buys item immediately 

before G and after C. Two people buy item between H and C. A buys an 

item after B. F buys an item before E. Neither F nor E buys items first or 

last.

आठ व्यनि A, B, C, D, E, F, G और H अिग-अिग र्स्तएु ँिरीदते हैं िेनकि आर्श्यक 

िहीं इसी क्रम में हों। तीि व्यनि A और D के बीच आइटम िरीदते हैं। दो व्यनि B और A के 

बीच आइटम िरीदते हैं। A, G से ठीक पहिे और C के बाद आइटम िरीदता ह।ै दो िोग H 

और C के बीच आइटम िरीदते हैं। A, B के बाद एक आइटम िरीदता ह।ै F , E के पहिे 

एक आइटम िरीदता है । ि तो F और ि ही E पहिे या आनिरी आइटम िरीदता ह।ै



Eight people A, B, C, D, E, F, G and H buy different items but not 

necessarily in the same order. Three-person buys items between A and D. 

Two persons buy items between B and A. A buys item immediately 

before G and after C. Two people buy item between H and C. A buys an 

item after B. F buys an item before E. Neither F nor E buys items first or 

last.



Eight friends A, B, C, D, E, F, G and H are sitting in a row with equal 

distances between each other, but not necessarily in the same order. All 

of them are facing north direction. Two people sit between E and C. E 

sits at one of the extreme ends. A sits second to the right of C. B sits 

fourth to the left of F. F is not an immediate neighbor of C. H sits third 

to the left of D. D does not sit at extreme ends.

आठ नमि A, B, C, D, E, F, G और H एक पंनि में एक दसूरे के बीच समाि दरूी के 

साथ बैठे हैं, िेनकि जरूरी िहीं नक इसी क्रम में हों। उि सभी का मिु उत्तर नदशा की ओर 

ह।ै E और C के बीच दो व्यनि बैठे हैं। E नकसी एक अनंतम छोर पर बैठा ह।ै A, C के दायें 

से दसूरे स्थाि पर बैठा ह।ै B, F के बायें से चौथे स्थाि पर बैठा ह।ै F, C का निकटतम 

पडोसी िहीं ह।ै H, D के बायें से तीसरे स्थाि पर बैठा ह।ै D अनंतम छोर पर िहीं बैठा ह।ै



Eight friends A, B, C, D, E, F, G and H are sitting in a row with equal distances 

between each other, but not necessarily in the same order. All of them are facing 

north direction. Two people sit between E and C. E sits at one of the extreme 

ends. A sits second to the right of C. B sits fourth to the left of F. F is not an 

immediate neighbor of C. H sits third to the left of D. D does not sit at extreme 

ends.



Three generations of people live together. 

There are 12 members in the family viz. M, 

N, O, P, Q, R, S, T, U, V, W and X who 

went out for a picnic. R and Q are kids of T 

and S. V, who is the father in law of W, is 

the paternal uncle of R. T has a son and a 

daughter. P is the husband of O. O is the 

daughter of Q. M is the brother of N. R is 

married to U. Father of N is U who has only 

one daughter. S is the father in law of U. W 

is the wife of X.

Four of the five are alike in a certain way 

and hence form a group. Which one the 

following doesn’t belong to the group?

Q P O M N

िोगों की तीि पीऩियां एक साथ रहती हैं। पररवार में

12 सदस्य हैं अथाषत। एम, एि, ओ, पी, क्यू, आर, एस,

टी, यू, वी, डब््यू और एक्स जो नपकनिक के निए

बाहर गए थे। R और Q, T और S के बच्चे हैं। V, जो

W का ससुर है, R का चाचा है। T का एक बेटा और

एक बेटी है। P, O का पनत है। O, Q की पुत्री है। M,

N का भाई है। R का नववाह U से हुआ है। N का नपता

U है, नजसकी केवि एक पुत्री है। S, U का ससुर है।

W, X की पत्िी है।

पांच में से चार एक निनित तरीके से समाि हैं और

इसनिए एक समूह बिाते हैं। निम्िनिनखत में से कौि

समूह से संबंनित िहीं है?

Q P O M N



Three generations of people live together. 

There are 12 members in the family viz. M, 

N, O, P, Q, R, S, T, U, V, W and X who 

went out for a picnic. R and Q are kids of T 

and S. V, who is the father in law of W, is 

the paternal uncle of R. T has a son and a 

daughter. P is the husband of O. O is the 

daughter of Q. M is the brother of N. R is 

married to U. Father of N is U who has only 

one daughter. S is the father in law of U. W 

is the wife of X.

Four of the five are alike in a certain way 

and hence form a group. Which one the 

following doesn’t belong to the group?

Q P O M N



A certain number of persons are sitting in the row. All of them are facing 

towards north. Q sits sixth from the right of S. T sits forth to left of Q. Only 

two persons sit between Q and P. R sits forth to the left of S. U sits between 

S and T. V sits second to the right of U. W is third from any of the end. S is 

eight from the left end of the row. Six persons sit between W and V.

एक निनित संख्या में व्यनि पंनि में बैठे हैं। उि सभी का मिु उत्तर की ओर ह।ै Q, S के दायें

से छठे स्थाि पर बैठता ह।ै T, Q के बायें से आगे बैठता ह।ै Q और P के बीच केर्ि दो व्यनि 

बैठते हैं। R, S के बायीं ओर बैठता ह।ै U, S और T के बीच बैठता ह।ै V, U के दायें से दसूरे 

स्थाि पर बैठता ह।ै W नकसी भी छोर से तीसरे स्थाि पर ह।ै S पंनि के बाएं छोर से आठर्ां ह।ै 

W और V के मध्य छह व्यनि बैठे हैं।



A certain number of persons are sitting in the row. All of them are facing 

towards north. Q sits sixth from the right of S. T sits forth to left of Q. Only 

two persons sit between Q and P. R sits forth to the left of S. U sits between 

S and T. V sits second to the right of U. W is third from any of the end. S is 

eight from the left end of the row. Six persons sit between W and V.



Ten persons are sitting in two parallel rows containing five persons in each row such a 

way that there is an equal distance between adjacent persons. In the first row, A, B, C, 

D and E are seated and all of them are facing north. In the second row, P, Q, R, S and T 

are seated and all of them are facing south. Therefore, in the given seating arrangement, 

each member seated in a row faces another member of the other row. E sits 2nd from 

one of the extreme end of the row. P faces the one who sits 2nd to the right of E. D sits 

2nd to the left of B, who does not sit at the extreme end. Two persons sit between S and 

Q. R sits immediate left of S. C sits next to B. 

दस व्यनि दो समािांतर पंनियों में बैठे हैं नजिमें प्रत्येक पंनि में पांच व्यनि इस प्रकार बैठे हैं नक आसन्ि 

व्यनियों के बीच समाि दरूी ह।ै पहिी पंनि में, A, B, C, D और E बैठे हैं और उि सभी का मिु उत्तर की 

ओर ह।ै दसूरी पंनि में, P, Q, R, S और T बैठे हैं और उि सभी का मिु दनिण की ओर ह।ै इसनिए, दी गई 

बैठिे की व्यर्स्था में, एक पंनि में बैठे प्रत्येक सदस्य का मिु दसूरी पंनि के दसूरे सदस्य की ओर ह।ै E पंनि 

के नकसी एक अंनतम छोर से दसूरे स्थाि पर बैठा ह।ै P का मिु उस व्यनि की ओर ह ैजो E के दायें से दसूरे 

स्थाि पर बैठा ह।ै D, B के बायें से दसूरे स्थाि पर बैठा ह,ै जो अंनतम छोर पर िहीं बैठा ह।ै S और Q के बीच 

दो व्यनि बैठे हैं। R, S के ठीक बाएं बैठा ह।ै C, B के बगि में बैठा ह।ै



Ten persons are sitting in two parallel rows containing five persons in each row such a 

way that there is an equal distance between adjacent persons. In the first row, A, B, C, 

D and E are seated and all of them are facing north. In the second row, P, Q, R, S and 

T are seated and all of them are facing south. Therefore, in the given seating 

arrangement, each member seated in a row faces another member of the other row. E 

sits 2nd from one of the extreme end of the row. P faces the one who sits 2nd to the 

right of E. D sits 2nd to the left of B, who does not sit at the extreme end. Two 

persons sit between S and Q. R sits immediate left of S. C sits next to B. 



Seven persons from P to V 

come in a meeting room. V 

came just before Q. Only three 

persons came between R and S. 

S came immediately after P. No 

one came between P and Q such 

that Q came before P. Only one 

person came between R and T.

P स ेV तक सात व्यनि एक बैठक 

कि में आते हैं। V, Q के ठीक 

पहिे आया। R और S के बीच 

केर्ि तीि व्यनि आए। S, P के 

ठीक बाद आया। कोई भी P और 

Q के बीच ऐसा िहीं आया नक Q, 

P स ेपहि ेआए। केर्ि एक व्यनि 

R और T के बीच में आया।



Seven persons from P to V 

come in a meeting room. V 

came just before Q. Only three 

persons came between R and S. 

S came immediately after P. No 

one came between P and Q such 

that Q came before P. Only one 

person came between R and T.



Some boxes are stacked one above the 

other. Box D is placed below Box B but not 

immediately below Box B. Box D is placed 

exactly between Box J and Box K. Box E is 

placed above Box H. Box F is not kept 

adjacent to Box B. Box G is kept 

immediately below box K. Box I is not at 

the top of the stack. There are three boxes 

above box B. There are three boxes 

between J and I. There are two boxes 

between Box A and Box J. Box C is placed 

immediately above Box F. There are two 

boxes between box B and box K. There are 

two boxes between box G and Box F.

कुछ नडब्बे एक के ऊपर एक रिे हुए हैं। बॉक्स D को 

बॉक्स B के िीचे रिा गया ह ैिेनकि बॉक्स B के 

ठीक िीचे िहीं रिा गया ह।ै बॉक्स D को बॉक्स J 

और बॉक्स K के ठीक बीच में रिा गया ह।ै बॉक्स E 

को बॉक्स H के ऊपर रिा गया ह।ै बॉक्स F को 

बॉक्स B के निकट िहीं रिा गया ह।ै बॉक्स G को 

ठीक िीचे रिा गया ह।ै नडब्बा K. नडब्बा I ढेर के 

शीषक पर िहीं ह।ै बॉक्स B के ऊपर तीि बॉक्स हैं। J 

और I के बीच तीि बॉक्स हैं। बॉक्स A और बॉक्स J 

के बीच दो बॉक्स हैं। बॉक्स C, बॉक्स F के ठीक 

ऊपर रिा गया ह।ै बॉक्स B और बॉक्स K के बीच 

दो बॉक्स हैं। नडब्बा G और नडब्बा F के मध्य दो 

नडब्बे हैं।



Some boxes are stacked one above the 

other. Box D is placed below Box B but not 

immediately below Box B. Box D is placed 

exactly between Box J and Box K. Box E is 

placed above Box H. Box F is not kept 

adjacent to Box B. Box G is kept 

immediately below box K. Box I is not at 

the top of the stack. There are three boxes 

above box B. There are three boxes 

between J and I. There are two boxes 

between Box A and Box J. Box C is placed 

immediately above Box F. There are two 

boxes between box B and box K. There are 

two boxes between box G and Box F.


